2. THlE=%1 7

(ko B )
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EME=FV TREGMGESR) (EREEREREY A REkS1) (BT :meg/L)
1 X HT R4 LR AN /NI
T XHTA 2 — R 202 203
H1X 4 A IRFHT T
1< 5 0230 0040
HEE 000100 001600
FHEF R (m) 6.0 P N:
R EHF EHF
HI&X 5y Z DA, THERK
PKEH H H24.7.17 | H24.12. 11 H24.7.09 | H24.12.03
KIECC) 17.0 16.1 15.0 14.8
L XURE R (mS/m) 20. 1 14.2 25.1 18.2
pH 9.8 5.9 GRRELE 6.8 6.7 GRRELE
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7aaxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rapxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIranTFL < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1 X HT R4 /AT AN /NI
T XHTA 2 — R 203 203
H1X 4 T FE5HT
1< 5 0040 0100
HEE 002000 000300
H P R (m) 30.0 30.0
R RIFE RIFE
HI&X 5y THERK — %K H
PKEH H H24.7.09 | H24.12.03 H24.7.11 | H24.12. 04
KIRCC) 14.5 15.0 17.0 15.5
XU E S (mS/m) 22.1 15.5 15.9 12.6
pH 6.9 7.0 A 5.4 5.7 A
Jran AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
iRl e < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =t/ ~— < 0.0002 |<0.0002 (< 0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/raxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmamaxx < 0.0005 |<0.0005 (< 0.0005 |[<0.0005 [<0.0005 [<0.0005
1,1,2-N)rmampxs < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N Za=i=Et 0 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ShorunTFLs 0. 0030 0.0038 |# 0.0034 [< 0.0005 [< 0.0005 |< 0.0005
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EHE=FY 7 RE (it

CEFEMEARRIER e 0l R 52)

(BT :mg/L)

7 HT A 4 /AT /AT

T XHTA 2 — R 203 203

H1X 4 T 7 JRHT HHT

1< 5 0200 0340

HEE 000200 001600

H P R (m) ] ]

R A A

HI&X 5y A TE FHK A TE FHK

PKEH H H24.7.09 | H24.12.04 H24.7.11 | H24.12. 04

AKIRCEC) 15.0 16. 2 16.0 18.4

L XURE R (mS/m) 10.0 7.4 15.1 10.7

pH 9.5 5.6 R 5.3 5.3 R
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGl iR 3 < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Yr/aaxsl < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rapxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 0. 006 0. 006 # 0.006
FhraarFL s < 0.0005 < 0.0005 (< 0.0005 0.0005 |< 0.0005 |# 0.0005
7 PHT A 4 /AT /AT

T XHTA 2 — R 203 203

H1X 4 PP HEHT PP HEHT

1< 5 0350 0350

HEE 001300 001400

H P R (m) 40.0 54.0

R RIFE RIFE

HI&X 5y TEEMK TEEMK

PKEH H H24.7.11 | H24.12.04 H24.7.11 | H24.12. 04

KIE(C) 16.8 16.7 17.0 16.0

XU E S (mS/m) 16.9 12.1 29.5 26.0

pH 5.6 5.5 A 6.0 5.9 A
rmaa R < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUEAL B SR < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =t/ ~— < 0.0002 |<0.0002 (< 0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-YragxFl < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-YruuxFl < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxiy < 0. 0005 0.0006 |# 0.0006 0. 0022 0.0032 |# 0.0027
1,1,2-N)raaxiy < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N Za=i=Et 0 P 0. 002 0.002 # 0.002 0.002 0.002 # 0.002
ShorunTFLs < 0.0005 |<0.0005 (< 0.0005 |[<0.0005 [<0.0005 [<0.0005
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EHE=FY 7 RE (it

CEFEMEARIER LG )l R 53)

(BT :mg/L)

1 X HT R4 /AT AN /NI

T XHTA 2 — R 203 203

H1X 4 A HERT L)

1< 5 0350 0450

HEE 001800 000400

HF G (m) 34.0 N

R RIFE A

HI&X 5y THERK A TE FHK

PKEH H H24.7.11 | H24.12.04 H24.7.09 | H24.12.03

KIECC) 16.0 15.0 15.3 16.0

L XURE R (mS/m) 17.8 13.5 11.8 8.1

pH 9.8 5.9 GRRELE 5.8 6.0 GRRELE
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7aaxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rapxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIranTFL < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1 X HT R4 /AT i F=5 17

T XHTA 2 — R 203 204

H1X 4 ANEN ) AT T

1< 5 0660 0010

HEE 000100 000100

H P R (m) 10.0 6.0

R EHF EHF

HI&X 5y A TE FHK A TE FHK

PKEH H H24.7.09 | H24.12.03 H24.7.26 | H24.12. 11

KIRCC) 18.2 12.0 15.0 14.5

XU E S (mS/m) 23.3 11.9 32.0 29.3

pH 6.6 6.9 A 6.5 7.0 A
Jran AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
iRl e < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =t/ ~— < 0.0002 |<0.0002 (< 0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/raxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFlL < 0.004 < 0.004 < 0.004 0.014 0.007 # 0.011
1,1,1-F)rmamaxx < 0.0005 |<0.0005 (< 0.0005 |[<0.0005 [<0.0005 [<0.0005
1,1,2-N)rmampxs < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N Za=i=Et 0 P < 0.002 < 0.002 < 0.002 0.005 0.003 # 0.004
ShorunTFLs < 0.0005 |< 0.0005 < 0.0005 0.048 0.032 * 0.040
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EHE=FY 7 RE (it

CEFEMEARIER LG 0l R 574)

(BT :mg/L)

7 HT A 4 i =5 11 i =5 11

T XHTA 2 — R 204 204

H1X 4 {A] H T AT T

1< 5 0010 0010

HEE 000130 000140

H P R (m) 3.0 5.0

R EHF EHF

HI&X 5y A TE FHK A TE FHK

PKEH H H24.7.26 | H24.12. 11 H24.7.26 | H24.12. 11

AKIRCEC) 14.5 14.1 15.0 15.0

L XURE R (mS/m) 45.9 39.1 35.1 25.3

pH 6.7 1.0 R 6.6 6.8 R
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGl iR 3 < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Yr/aaxsl < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFL < 0.004 < 0.004 < 0.004 0.004 0.01 # 0.007
1,1,1-F)rapxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 0. 002 # 0.002
FhraarFL s 0.0019 0.0012 |# 0.0016 0. 0055 0.014 |# 0.0098
7 PHT A 4 S v PIVETT

T XHTA 2 — R 206 207

H1X 4 AR 2R PIEHT

1< 5 0490 0030

HEE 000100 000500

H P R (m) 20.0 10.0

R RIFE EHF

HI&X 5y A TE FHK DA

PKEH H H24.7.03 | H24.12.13 H24.7.11 | H24.12. 04

KIE(C) 18.2 16.9 21.2 14.5

XU E S (mS/m) 20.3 18.3 35.3 38.4

pH 5.9 6.0 A 6.1 6.4 A
rmaa R < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUEAL B SR < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =t/ ~— < 0.0002 |< 0.0002 (< 0.0002 0.033 0. 031 * 0.032
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-YragxFl < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-YruuxFl < 0.004 < 0.004 < 0.004 0.018 0.034 |# 0.026
1,1,1-N)raaxiy < 0.0005 |<0.0005 (< 0.0005 |[<0.0005 [<0.0005 [<0.0005
1,1,2-N)raaxiy < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N Za=i=Et 0 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ShorunTFLs 0. 0005 0.0005 |# 0.0005 |[< 0.0005 |< 0.0005 |< 0.0005
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EHE=FY 7 RE (it

i)

CEFEMEARIER LG )| R 55)

(BT :mg/L)

1 X HT R4 PIVETT PIVETT

T XHTA 2 — R 207 207

H1X 4 ESU) BEARHT

1< 5 0050 0070

HEE 000600 000400

H P R (m) BH 40.0

R EHF RIFE

HI&X 5y Z DA, Z DA,

PKEH H H24.7.11 | H24.12.04 H24.7.11 | H24.12. 04

KIECC) 17.2 14.5 19.0 11.8

L XURE R (mS/m) 28.5 27.4 35.6 37.1

pH 8.3 8.4 GRRELE 8.0 1.9 GRRELE
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/aaxFL < 0.002 < 0.002 < 0.002 0. 01 0.003 # 0.007
1,2-7aaxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rapxi- < 0.0005 < 0.0005 (< 0.0005 0.0011 0.0005 |# 0.0008
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIranTFL < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1 X HT R4 H T H T

T XHTA 2 — R 210 210

H1X 4 B K T B K T

1< 5 0030 0030

HEE 000400 000500

FHEF R (m) 100.0 P N:

R RIFE RIFE

&K Sy — %K H THERK

PKEH H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

KIRCC) 16.5 13.5 19.0 16.0

XU E S (mS/m) 28.3 17.5 25.9 17.0

pH 6.7 6.5 A 6.3 6.4 A
Jran AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
iRl e < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =t/ ~— < 0.0002 |<0.0002 (< 0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/raxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmamaxx < 0.0005 |<0.0005 (< 0.0005 |[<0.0005 [<0.0005 [<0.0005
1,1,2-N)rmampxs < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N Za=i=Et 0 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ShorunTFLs 0. 0005 0.0007 |# 0.0006 0. 0029 0.0022 |# 0.0026
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EHE=FY 7 RE (it

CEFEMEARIER LY )| R i 576)

(BT :mg/L)

i KT 4 I I

i R = — 1 210 210

X4 kil kil

HOX 3 5 0040 0040

e 000100 000300

FEF VR EE (m) 85.0 100.0

e T VIR VIR

R Sy — i THEAA

FROKFEH H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

ZKIE(C) 21.0 11.5 17.0 15.5

FEXURE S (mS/m) 29.3 16.8 28. 4 17.0

pH 6.9 6.7 [EHITHE] 6.6 6.8 4RIV
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MU iR R < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
ke =t/ ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-vraaxH < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rma=x4 < 0.0005 [< 0.0005 (< 0.0005 0.0015 0.0017 |# 0.0016
1,1,2-N)rmaa=x4 < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
MNZaaxzsF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaaTFL < 0.0005 [< 0.0005 (< 0.0005 0. 0007 0.0006 |# 0.0007
i KT 4 I I

i TR = —F 210 210

X T T HAR ]

HOIX 3 5 0080 0090

e 000500 000400

I I (m) A 60.0

e T I VIR

TR Sy — Ak — BB

FROKFEH H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

KIR(C) 18.5 14.0 19.5 14.5

L AE A (mS/m) 24.5 151 27.0 15.3

pH 6.4 6.5 A 6.2 6.3 A
STy <0.002 <0002 |<0002 |<0.002 <0002 |<O0.002
PR <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
Ml e =L~ — <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
BESY = EEyay < 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004
RS <0.002 <0002 |<0002 |<0.002 <0002 |<O0.002
RIS ey <0.004 <0004 |<0004 |<0.004 [<O0.004 |<O0. 004
LI N 7aa=sy < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
112N 7aa=sy < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
NP e 0.002 | 0.002 |#0.002 |<0.002 [<0.002 |<O0.002
o /mneT Ly < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
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EHE=FY 7 RE (it

CEFEMEARRIER LG AR 2T)

(BT :mg/L)

7 X HT A4 S S

i XHTff =2 — R 210 210

HiX 4, FAHHT 7 T

H1 X5 0090 0100

HFFES 000500 000100

FEF VR EE (m) 60.0 80.0

R B wH A

X5y ZDith — R

FKFA H - H24.12.10 H24.7.11 | H24.12.10

ZKIE(C) 15.5 27.0 18.2

ERIRE R (mS/m) 17.2 26.1 16.7

pH 6.5 | EHEHME 6.2 6.4 | FEREYE
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MU iR R < 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 |< 0.0002
ke =t/ ~— < 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 |< 0.0002
1,2-vraaxH < 0.0004 [< 0.0004 |[< 0.0004 < 0.0004 |< 0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rma=x4 < 0.0005 [< 0.0005 |[< 0.0005 [<0.0005 |< 0.0005
1,1,2-N)rmaa=x4 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 |< 0.0006
[NEZA=1=8t5 S P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaaTFL 0.0005 |# 0.0005 0. 0020 0.0012 |# 0.0016
7 X HT A4 FrL FrL

i XHTff =2 —R 210 210

X4 B ACHTIT Prismy

H1 X5 0130 0380

HFFES 000500 000100

I I (m) A 80.0

R wH A wH A

&K Sy — X K] AKTE KPR

FKFA H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

AKIRCC) 20.0 14.0 22.0 16.0

BRRE R (mS/m) 25.4 15.7 28. 1 17.1

pH 6.2 6.6 A 6.4 6.4 A
A==y ¥ 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 (< 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 [< 0.0002
ik =t/ ~— < 0.0002 (< 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 [< 0.0002
1,2-rmax i < 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/maxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 (< 0.0005 [< 0.0005 < 0.0005 < 0.0005 [< 0.0005
1,1,2-N)7mma=x < 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 [< 0.0006
N 7oa=xFL 0. 004 0.003 # 0.004 < 0.002 < 0.002 < 0.002
FTh7maFL < 0.0005 (< 0.0005 (< 0.0005 0. 0005 0.0005 |# 0.0005
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EHE=FY 7 RE (it

CEFEMEA BRI EY )| R 58)

(BT :mg/L)

RO L L

iR — R 210 210

e LT e

HIPE 5 0449 0480

R 000100 000100
HFTRE(m) 60.0 100.0

e B I I

P53 I I

PR H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

AKIR(C) 19.5 14.0 20.0 13.5

ERRE R (mS/m) 29.1 17.6 28.5 17.6

pH 6.4 6.6 ERIEHIE] 6.5 6.7 [fERIEHE
Vraarg s < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU SR <0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 |<0.0002
Bk =L/ ~v— <0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 |<0.0002
1,2-v/anxg s < 0.0004 < 0.0004 < 0.0004 [<0.0004 [<0.0004 [<0.0004
L1-Y7aaxsL s < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7aaxs L <0.004 [<0.004 <0.004 |<0.004 <0.004 |<0.004
1,1,1-’)mnx b < 0.0005 < 0.0005 < 0.0005 0. 001 0.0007 |# 0.0009
1,1,2-’N)mnx b < 0.0006 < 0.0006 < 0.0006 |< 0.0006 (< 0.0006 |< 0.0006
NPZa=i= < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThIrunTF L 0.0009 < 0.0005 |# 0.0007 0.0014 0.0008 |# 0.0011
O BN BN

iR — R 210 210

KA, e e

HIPE 5 0480 0480

P 000300 000500

J P (m) aZ 100.0

e B I I

P53 B B

PR H H24.7.11 | H24.12.10 H24.7.11 | H24.12.10

AKH(C) 5.5 16.2 21.0 14.5

AU E A (mS/m) 28.8 18.2 28.9 19.4

pH 6.6 6.9 A 6.8 7.0 A
SEEE <0.002__[<0.002_ [<0.002 [<0.002 <0.002 [<0.002
IR, <0.0002_[< 0.0002_[< 0.0002 |< 0.0002 < 0.0002 < 0.0002
HlbE = e/~ — <0.0002_[< 0.0002_[< 0.0002 |< 0.0002 < 0.0002 < 0.0002
e <0.0004 < 0.0004 |< 0.0004 |< 0.0004_< 0.0004 < 0.0004
B <0.002__[<0.002_ [<0.002 [<0.002 <0.002 [<0.002
A <0.004 <0004 [<0.004 [<0.004 <0.004 [<0.004
LLIN7aassy <0.0005 < 0.0005_|<0.0005 | 0.0023 | 0.0019 % 0.0021
LL2h7anssy <0.0006 < 0.0006 |< 0.0006 |< 0.0006 < 0.0006 < 0.0006
SEEEEEIR <0.002__[<0.002_ [<0.002 [<0.002 <0.002 [<0.002
L <0.0005_|< 0.0005_|<0.0005 | 0.0012 | 0.0006 [# 0.0009
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EHE=FY 7 RE (it

i)

CEFEMEARIER LY 0| R 59)

(BT :mg/L)

i KT 4 I I

i R = — 1 210 210

Hi < 4, — 5T e T

HOX 3 5 0510 0540

e 000100 000200

I I (m) T 80.0

e T Iy Iy

R Sy — AR — i

FROKFEH H H24.7.11 | H24.12. 11 H24.7.11 | H24.12.10

ZKIE(C) 20.5 13.8 15.5 15.5

FEXURE S (mS/m) 26. 4 22.2 17.3 12.3

pH 1.3 7.5 [ERITEE] 6.5 6.7 4RI
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MU iR R < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
ke =t/ ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-vraaxH < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rma=x4 0. 0005 0.0014 |# 0.0010 0. 0005 0.0005 |# 0.0005
1,1,2-N)rmaa=x4 < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
MNZaaxzsF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaaTFL < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |<0.0005 [< 0.0005
i KT 4 I W 2 i

i TR = —F 210 212

Hi < 4, ST PR

HOIX 3 5 0540 0010

e 000400 000400

FEF VR EE (m) 60.0 100.0

e T I VIR

TR IX KB AT — BB

FROKFEH H H24.7.11 | H24.12.10 H24.7.19 | H24.12. 11

KIR(C) 21.5 12.0 17.0 16. 4

L AE A (mS/m) 18.6 13.6 18.5 14.7

pH 6.5 6.7 A 6.1 6.4 A
STy <0.002 <0002 [<0.002 [<0.002 | 0.002 [#0.002
PR <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
Ml e =L~ — <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
BESY = EEyay < 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004
RS <0.002 <0002 |<0002 |<0.002 <0002 |<O0.002
RIS ey <0.004 <0004 |<0004 |<0.004 [<O0.004 |<O0. 004
LI N 7aa=sy 0.0006 | 0.0006 |# 0.0006 |< 0.0005 |< 0.0005 < 0.0005
112N 7aa=sy < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
NP e <0.002 <0002 |<0002 |<0.002 <0002 |<O0.002
o /mneT Ly < 0.0005 |< 0.0005 |< 0.0005 | 0.0007 | 0.0005 |# 0.0006
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EHE=FY 7 RE (it

CEFEMEA BRI EY )l R 57 10)

(BT :mg/L)

7 HT A 4 B % ifiifi B % ifiifi

T XHTA 2 — R 212 212

Hi1 X 44 Eililog EL)

1< 5 0010 0020

HEE 001000 000100

H P R (m) 100.0 50.0

R RIFE RIFE

HI&X 5y A TE FHK A TE FHK

PKEH H H24.7.19 | H24.12. 11 H24.7.19 | H24.12. 11

AKIRCEC) 15.8 16.0 18.0 14.0

L XURE R (mS/m) 22.9 15.8 24 4 15.9

pH 6.4 6.5 R 6.5 6.6 R
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGl iR 3 < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
ke =1/ ~v— < 0.0002 (< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Yr/aaxsl < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rapxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxir < 0.0006 (< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhraarFL s < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
7 PHT A 4 B % rfiifi g HT

T XHTA 2 — R 212 361

H1X 4 (G233 KH

1< 5 0040 0010

HEE 000100 001000

H P R (m) 30.0 130.0

R RIFE RIFE

&K Sy — X K] TEEMK

PKEH H H24.7.19 | H24.12. 11 H24.7.17 | H24.12. 11

KIE(C) 17.1 17.0 20. 2 12.0

XU E S (mS/m) 20 12 47 33

pH 6.3 6.7 A 1.5 7.8 A
rmaa R < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUEAL B SR < 0.0002 (< 0.0002 (< 0.0002 0.0002 (< 0.0002 (< 0.0002
ke =t/ ~— < 0.0002 |< 0.0002 (< 0.0002 0. 0022 0.0007 |# 0.0015
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 0.0004 (< 0.0004 (< 0.0004
1,1-YragxFl < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002
1,2-YruuxFl < 0.004 < 0.004 < 0.004 0.042 0. 041 * 0.042
1,1,1-N)raaxiy < 0.0005 < 0.0005 (< 0.0005 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)raaxiy < 0.0006 (< 0.0006 (< 0.0006 0.0006 (< 0.0006 (< 0.0006
[N Za=i=Et 0 P < 0.002 < 0.002 < 0.002 0.020 0.020 |# 0.020
ShorunTFLs 0. 0009 0.0009 |# 0.0009 0.0005 (< 0.0005 |# 0.0005
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EHE=FY 7R

CGEFEMEE BRI EY AR FE 711

(BT :mg/L)

i KT R 4 AT AT

KT A — 384 384

HLX K HIERT K HIERT

HOIX 3 5 1030 1030

e 000500 001000

I (m) T 13.0

e T I B

FREIX Sy PETE ALK Z il

FROKEH H H24.7.18 | H24.12. 11 H24.7.18 | H24.12. 11

ZKIE(C) 16.9 14.5 16.2 15.0

FEXURE S (mS/m) 32.1 22.9 42.7 35.7

pH 6.6 6.8 |wHEmiE] 6.3 6.5 4RI
N A=dub ¥ N < 0.002 < 0.002 < 0.002 0. 002 0.041 < 0.002
Wi ES < 0.0002 [< 0.0002 (< 0.0002 0.0002 |< 0.0002 [< 0.0002
ke =t/ ~— < 0.0002 [< 0.0002 (< 0.0002 0.14 0. 041 * 0.091
1,2-rmaxHs < 0.0004 [< 0.0004 (< 0.0004 0.0004 |< 0.0004 |< 0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 0.003 < 0.002 # 0.003
1,2->7uaxFlL < 0.004 < 0.004 < 0.004 0.29 0. 051 * 0.17
1,1,1-N)rma=x < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-N)rmaax4 0.0006 (< 0.0006 [# 0.0006 |< 0.0006 [< 0.0006 |< 0.0006
Moo < 0.002 < 0.002 < 0.002 0.11 < 0.002 * 0.056
Th7aarTFL < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
i KT 4 F A KAT

i XHTff =2 —R 386

HLX 1611

H1 X5 0140

HFPFES 000200

) B

e T I

TR Sy — BB

FROKEH H H24.7.10 | H24.12.04

KIR(C) 18.0 151

B E A (mS/m) 20. 8 17.0

pH 6.5 6.9 P

STy <0.002 <0002 |<0.002

PR <0.0002 < 0.0002 < 0.0002

e =/~ — <0.0002 < 0.0002 < 0.0002

BESY = EEyay < 0.0004 |< 0.0004 |< 0.0004

IRESZEEE 2 <0.002 <0002 |<0.002

[BES =gy <0.004 <0004 |<0.004

LI N aa=sy < 0.0005 |< 0.0005 < 0.0005

1LL2-N7aa=sy < 0.0006 < 0.0006 < 0.0006

NP EEE <0.002 <0002 |<0.002

YTy 0.0005 < 0.0005 |# 0.0005
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EE=FV 7REMGESR) EREAEREREY &R E”S D (B mg/L)

1 X HT R4 AT AT

i XHTff =2 — R 201 201

HiX 4 ATy ATy

Hi (X &7 0010 0010

HFPFES 000100 000800

FEF R (m) 50.0 100.0

R wHF wHF

HI&IX 5y — B THEMK

PKFEA H H24.6.26 | H25.2.19 H24.6.28 | H25.1. 31

KIE(C) 17.0 11.2 16.0 14.7

BRIRE R (mS/m) 26.0 25.0 24.0 23.0

pH 1.0 1.0 GRRELEs 6.6 6.8 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)/maaxk < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)o/maaxk < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0. 0008 0.0011 |# 0.0010 0.0062 0.0051 |# 0.0057
1 X HT R4 AT AT

i XHT R =2 —R 201 201

HiX 4 ATy ATy

Hi (X &7 0010 0010

HFPFES 000900 001000

VR EE (m) 81.0 80.0

R wHF wHF

H& X5y ATE FHK — B

PKFEA H H24.6.28 | H25.1.31 H24.6.28 | H25.1. 31

KIE(C) 18.0 14.5 19.2 13.5

BRfREZ (mS/m) 27.0 24.0 27.0 24.0

pH 6.8 6.9 A 7.0 7.1 A
A==y ¥ 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-/maax i < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |<0.0005 [< 0.0005
1,1,2-N)7mma=x < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N 7oaxsFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIr7oaxFL 0.0044 0.0049 |# 0.0047 0.0018 0.0021 |# 0.0020
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EHE=FV7REMGER)  EREARERE AW &R EM52) (B mg/L)

1 X HT R4 AT AT

T XHTA 2 — R 201 201

HiX 4 ATy ATy

H1 X5 0010 0010

HFPFES 001100 002000

FEF R (m) 80.0 150.0

R wHA wHA

HI&IX 5y — B ATE FHK

PKFEA H H24.6.28 | H25.1.31 H24.6.26 | H25.1.29

KIE(C) 21.8 13.7 15.4 12.5

BRIRE R (mS/m) 28.0 26.0 25.0 24.0

pH 1.0 1.2 GRRELEs 1.0 6.9 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax4 < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)rmax < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0. 0031 0.0024 |# 0.0028 0.0023 0.0024 |# 0.0024
1 X HT R4 AT AT

T XHTA = — R 201 201

HiX 4 ATy ATy

H1 X5 0020 0020

HFPFES 000200 000400

FEF R (m) 70.0 BH

R wHA B

H& X5y ATE FHK ATE FHK

PKFEA H H24.6.26 | H25.1.29 H24.6.27 | H25.1.30

KIE(C) 16.5 14.3 18.5 11.5

BRfREZ (mS/m) 23.0 21.0 23.0 19.0

pH 6.9 6.8 A 6.8 6.8 A
A=1=5 ¥ 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WhiE e < 0.0002 |< 0.0002 (< 0.0002 |[< 0.0002 [<0.0002 [<0.0002
1,2-Yraax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1,1-Y/aaxgly < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/aaxdl < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)maxiy < 0.0005 |< 0.0005 (< 0.0005 |[< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)rmuxiy < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
N Pari=t s S A < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhFranTFLs 0. 0069 0.0061 |# 0.0065 0. 0096 0.011 # 0.010
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EE=FV7REMGESR)  EREARERE AW  &RTEM53) (B mg/L)

1 X HT R4 AT AT

i XHTff =2 — R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 001000 001500

FEF R (m) 158.0 80.0

R wHF wHF

HI&IX 5y — B ATE FHK

PKFEA H H24.6.27 | H25.1.30 H24.6.27 | H25.1.30

KIE(C) 20.0 13.4 18.2 15.8

BRIRE R (mS/m) 18.0 17.0 18.0 16.0

pH 6.6 6.7 GRRELEs 6.7 6.7 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)/maaxk < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)o/maaxk < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0.0072 0.0047 |# 0.0060 0.017 0.024 * 0.021
1 X HT R4 AT AT

i XHT R =2 —R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 001700 002200

VR EE (m) 85.0 80.0

R wHF wHF

H& X5y ATE FHK ATE FHK

PKFEA H H24.6.27 | H25.1.30 H24.6.26 | H25.1.29

KIE(C) 16.2 13.0 19.5 13.5

BRfREZ (mS/m) 29.0 24.0 24.0 24.0

pH 7.0 7.0 A 1.2 1.3 A
A==y ¥ 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-/maax i < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |<0.0005 [< 0.0005
1,1,2-N)7mma=x < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N 7oaxsFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIr7oaxFL 0. 0057 0.0068 |# 0.0063 0. 0054 0.0056 |# 0.0055
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EHE=FY 7 RE (i

(EFEMEA IR R LB &R FEh74)

(BT :mg/L)

1 X HT R4 AT AT

i XHTff =2 — R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 002300 002400

FEF R (m) 100.0 120.0

R wHF wHF

H& X5y ATE FHK ATE FHK

PKFEA H H24.6.26 | H25.1.29 H24.6.27 | H25.1.30

KIE(C) 15.5 14.3 17.8 13.5

BRIRE R (mS/m) 21.0 19.0 18.0 16.0

pH 1.4 1.5 GRRELEs 1.1 1.0 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)/maaxk < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)o/maaxk < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0.0012 0.0009 |# 0.0011 0.0010 0.0007 |# 0.0009
1 X HT R4 AT AT

i XHT R =2 —R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 003200 003700

FEF R (m) 150.0 80.0

R wHF wHF

H& X5y ATE FHK ATE FHK

PKFEA H H24.6.27 | H25.1.30 H24.6.27 | H25.1.30

KIE(C) 14.0 13.9 16.0 14.5

BRfREZ (mS/m) 23.0 23.0 23.0 21.0

pH 6.8 7.0 A 7.0 6.9 A
A==y ¥ 04 < 0.002 < 0.002 < 0.002 < 0.002 0.002 < 0.002
lLth: =R ES < 0.0002 (< 0.0002 [< 0.0002 (< 0.0002 0.0002 |< 0.0002
1,2-/maax i < 0.0004 [< 0.0004 (< 0.0004 |< 0.0004 0.0004 < 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 < 0.002 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 0. 004 < 0.004
1,1,1-N) 7=z < 0.0005 [< 0.0005 (< 0.0005 |< 0.0005 0.0005 |< 0.0005
1,1,2-N)7mma=x < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 0.0006 |< 0.0006
N 7oaxsFL < 0.002 < 0.002 < 0.002 < 0.002 0.002 < 0.002
FhIr7oaxFL 0. 064 0.12 * 0.092 0. 004 0.0051 |# 0.0046
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EME=FV 7REMGEER)  EREARERE AW @RI EM55) (B mg/L)

1 X HT R4 AT AT

i XHTff =2 — R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 003900 004500

VR EE (m) 70.0 49.0

R wHF A~

HI&IX 5y — B ATE FHK

PKFEA H H24.6.26 | H25.1.29 H24.6.27 | H25.1.30

KIE(C) 15.5 14. 4 19.2 13.5

BRIRE R (mS/m) 18.0 14.0 22.0 18.0

pH 1.0 1.0 GRRELEs 6.6 6.6 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)/maaxk < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)o/maaxk < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0.0007 (< 0.0005 |# 0.0006 0.0071 0.0091 |# 0.0081
1 X HT R4 AT AT

i XHT R =2 —R 201 201

HiX 4 B7way s B7ways

Hi (X &7 0020 0020

HFPFES 004600 005000

FEF R (m) 101.0 85.0

R wHF A~

H& X5y ATE FHK ATE FHK

PKFEA H H24.6.26 | H25.1.29 H24.6.26 | H25.1.29

KIE(C) 15.6 11.8 21.0 13.3

BRfREZ (mS/m) 25.0 25.0 26.0 25.0

pH 7.4 1.4 A 7.0 1.2 A
A==y ¥ 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-/maax i < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |<0.0005 [< 0.0005
1,1,2-N)7mma=x < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N 7oaxsFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIr7oaxFL 0.0029 0.0025 |# 0.0027 0. 0055 0.0061 |# 0.0058
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EHE=FY 7 RE (i

(EFEMEA IR R &R FEHE576)

(BT :mg/L)

1 X HT R4 AT AT

i XHTff =2 — R 201 201

HiX 4 B7wavs CTayr

Hi (X &7 0020 0030

HFPFES 005100 000100

VR EE (m) 90.0 80.0

BRI R R

& X5y ATERK ATERK

PKFEA H H24.6.27 | H25.1.30 H24.6.28 | H25.1. 31

KIE(C) 21.0 13.5 23.6 7.9

BRIRE R (mS/m) 20.0 18.0 22.0 19.0

pH 1.0 6.8 GRRELEs 6.4 6.5 GRRELEs
N A=dub & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002
1,2-vrmaxHs < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 |<0.0004 |<0.0004
1,1->7aaxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaaxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)/maaxk < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)o/maaxk < 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEZA=1=8t5 2 DA% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThoaarnFL 0. 0031 0.0043 |# 0.0037 0. 0030 0.0031 |# 0.0031
1 X HT R4 AT AT

i XHT R =2 —R 201 201

HiX 4 B7wavs CTayr

Hi (X &7 0030 0030

HFPFES 000500 000800

VR EE (m) 75.0 60.0

BRI R R

& X5y ATERK — B

PKFEA H H24.6.28 | H25.1. 31 H24.6.28 | H25.1. 31

KIE(C) 17.7 12.8 16.8 15.0

BRfREZ (mS/m) 20.0 18.0 25.0 23.0

pH 6.7 6.8 A 6.4 6.6 A
A==y ¥ 04 < 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 [< 0.0002 (< 0.0002 0.0002 |< 0.0002 [< 0.0002
1,2-/maax i < 0.0004 [< 0.0004 (< 0.0004 0.0004 |< 0.0004 [< 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 0. 004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 [< 0.0005 (< 0.0005 0.0005 |< 0.0005 [< 0.0005
1,1,2-N)7mma=x < 0.0006 [< 0.0006 (< 0.0006 0.0006 |< 0.0006 [< 0.0006
KN ZwumxsFL < 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002
FhIr7oaxFL 0. 0006 0.0008 |# 0.0007 0.0025 0.0020 |# 0.0023
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EHE=FY 7 RE (i

(GEFEMA IR EY & RTFERDT)

(BT :mg/L)

1 X HT R4 AT AT

T XHTA 2 — R 201 201

XA C7ayr o=

H1 X3 0030 0030

HEE 001300 002200

H P R (m) 100.0 79.0

R RIFE RIFE

HI&IX 5y ATE FHK ATE FHK

PKEH H H24.6.28 | H25.1.31 H24.6.26 | H25.1.29

KIECC) 19.0 12.0 19.5 12.7

HXUREHE (mS/m) 25.0 24.0 18.0 17.0

pH 6. 6 6.7 GRRELEs 6.4 6.4 GRRELEs
4=1=3 % N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y /Ty < 0.0004 (< 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/aaxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FN)rmaaxi- < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)rmapxi < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N Za=i=tasts 2 P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhIranTFL 0. 0055 0.0043 |# 0.0049 0.0047 0.0035 |# 0.0041
1 X HT R4 AT AT

T XHTA = — R 201 201

HiX 4 C7wuay’s C7uav’

H1 X3 0040 0040

HEE 000600 000800

H P R (m) 50.0 140.0

R A RIFE

&K Sy — xR — B

PKEH H H24.6.28 | H25.1.31 H24.6.28 | H25.1.31

KIECC) 15.7 14.6 16.0 14.8

XU E S (mS/m) 14.0 14.0 15.0 14.0

pH 6.8 6.8 A 6.3 6.0 A
Jrap AR < 0.002 < 0.002 < 0.002 < 0.002 0.002 # 0.002
WhiE e < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-ranx iy < 0.0004 < 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/raxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/maxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmmpxx < 0.0005 [<0.0005 (< 0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-N)rmampxx - < 0.0006 |< 0.0006 (< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[Nl P < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ShorunTFLs 0.0014 0.0018 |# 0.0016 0.0007 |< 0.0005 |# 0.0006
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EHE=FY 7 RE (i

Bt

(B3 A)IED)

(BT :mg/L)

7 T4 /AT /AT

i XET A —R 203 203

H X A ESLO) /AT

X% 5 0050 0600

HEES 000100 000100

FEFREE (m) 70.0 FN::|

&R RHF 1B

&KXy LMK DA

BRKEH A H24.7.02 | H24.12.03 H24.7.02 | H24.12.03

KIE(C) 18.5 16.5 21.0 15.5

EXUSEZH (mS/m) 53.0 50.0 54.6 42.9

pH 7.1 1.2 I 7.1 1.4 I
=== 0.015 0.030 * 0.023 0.020 0.015 * 0.018
i T4 NN I

XM= —R 203 206

Hit X 4 TNy w5 T

X% 5 0630 0620

HEES 000200 000100

FEFREE (m) 4.5 22.0

&R 1B 1B

&KXy DA ATERAK

BRKEH A H24.7.09 - H24.7.02 | H24.12.13

KIE(C) 13.0 17.8 16.5

EXUSEZH (mS/m) 18.1 40.8 34.5

pH 6.6 I 7.1 7.1 I
=== 0. 005 # 0.005 0.020 0. 025 * 0.023
7 T4 PIVET PIVET

i XA R —R 207 207

H X A 310 [EES=1)

X3 0050 0120

H &S 000600 000100

H PR (m) EH 130.0

& RHF EHP RHPF

HI&IX 5y saolich a2

BARFHH H24.7.11 | H24.12.04 H24.7.11 | H24.12.04

AKIRCEC) 17.2 14.5 15.6 14.8

HRURE R (mS/m) 28.5 27.4 21.3 27.6

pH 8.3 8.4 R 8.4 8.4 R
=3 0.010 0.010 # 0.010 0.010 0.010 # 0.010
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EHE=FY 7 RE (i

Bt

(B3 A)IR2)

(BT :mg/L)

i XHTA+ 44 PIVET PIVET

i XET A —R 207 207

Hit X 4 AYLHT pllli)

X% 5 0130 0250

HEES 000100 000500

FEFREE (m) 60.0 FN::|

&R RHF 1B

&5y Z DAt Z DAt

BRKEH A H24.7.11 | H24.12.04 H24.7.11 | H24.12. 04

KIE(C) 17.0 15.8 22.5 16.5

EXUSEZH (mS/m) 42.0 24.4 25.7 26.0

pH 6.7 6.9 I 8.1 8.2 I
=& 0.025 0.025 * 0.025 0.010 0.012 * 0.011
i XHTA+ 44 PIVET PN R T

i XET A —R 207 365

Hit X 4 FIVERT v

X% 5 0270 0070

HEES 000100 000100

FEFREE (m) 50.0 4.0

&R 1B EHPF

FHIEIX 5y ATERAK ATERAK

BRKEH A H24.7.11 | H24.12.04 H24.7.17 | H24.12. 11

KIE(C) 22.5 12.5 19.0 16.0

EXUSEZH (mS/m) 42.0 39.6 28.6 33.7

pH 8.2 8.3 I 6.9 6.8 I
=& 0.010 0.010 # 0.010 0.010 0.018 * 0.014
i XHTA+ 44 HE JCIKHT

i XET A —R 384 461

H X A BT o biii)

X3 1040 0040

HFEES 000200 000100

H PR (m) 4.0 30.0

& RHF 8 RHPF

HI&IX 5y DA ATE FHK

PKEHH H24.7.09 | H24.12. 11 H24.7.25 | H24.12.10

AKIRCEC) 15.9 13.5 17.5 14.0

HRURE R (mS/m) 36.8 38.8 27.1 20.3

pH 1.5 1.8 R 6.9 1.4 R
== 0.015 0.015 * 0.015 0.010 0.012 * 0.011
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EHE=FV 7 RE MR

(B3 A)IE3)

(BT :mg/L)

- 201 -

i XHTA+ 44 JCKHT REERHT
i XET A —R 461 463

H X A il TSy
X% 5 0060 0010
HEES 001100 000600
FEFREE (m) 25.0 FN::|
&R 1B N
FHIEIX 5y — A ATERAK
BRKEH A H24.7.11 | H24.12. 11 H24.7.10 | H24.12.10
KIE(C) 15.5 14. 4 17.3 17.1
EXUSEZH (mS/m) 22.2 21.0 21.8 21.7
pH 6.2 6.7 I 9.2 9.4 I
=& 0. 005 0. 006 # 0.006 0.010 0.014 | = 0.012
i XHTA+ 44 RERSHT

i XET A —R 463

H X A AT

X% 5 0240

HEES 000200

FEFREE (m) 10.0

&R EHPF

FHIEIX 5y ATERAK

BRKEH A H24.7.10 | H24.12.10

KIE(C) 14.5 15.5

EXUSEZH (mS/m) 34.9 21.4

pH 7.1 1.3 ]2 fiE

=5 0.010 0.010 # 0.010



EHE=FV 7 RE MR

(FHBAMEZE 38 R O IHBAME 2 55 - A 1R

(BT :mg/L)

i XHTH+ 44 /AT /AT

i XHT A= —R 203 203

Hit X 4 $E R AT st

X% 5 0160 0460

W& 000200 000200

FEF R (m) 7.0 4.0

&R T~ EHPF

FHIEIX 5y ATERAK ATERAK

BKFEH B H24.7.05 | H24.12.03 H24.7.09 | H24.12.03

AKIRCC) 13.8 14.9 13.9 15.5

BRRE R (mS/m) 13.4 12.5 25.3 26.3

pH 4.5 4.7 FEREEE 6.7 6.5 FEREEE
iRt 2 58 R N A et 22 5 1.6 2.1 #1.9 1.5 2.6 # 21

i XHTH+ 44 /AT /AT

i XHT A= —R 203 203

Hi XA A {LET [ ATy

X% 5 0490 0510

W& 000400 000100

FH G (m) 40.0 4.0

&R T~ EHPF

FHIEIX 5y ATERAK TEMK

BKFEH B H24.7.11 | H24.12. 04 H24.7.05 | H24.12. 04

AKIRCC) 16. 1 16.8 18.5 17.0

BRRE R (mS/m) 25.4 19.7 38.4 21.9

pH 5.0 5.1 I 6.0 6.2 I
iRt 2 58 R N A et 22 5 2.8 2.8 #28 5.8 4.5 #5.2
EHE=FVTREMBGESR) TyFE AR (B :mg/L)
i XHTH+ 44 Y= I

i XHT A= —R 206 206

H1 X 44 JInysEHT JInysEHT

H1 X5 0370 0370

HFFES 000200 000300

FHEF R (m) 5.0 P N:

& RHF EHP NG

HI&X 5y stk AETER K

FROKFEH H H24.7.02 | H24.12.13 H24.7.02 | H24.12.13

ZKIE(C) 20.5 4.0 17.2 12.0

FEXURE S (mS/m) 41.8 65.0 28. 1 25.8

pH 1.4 1.3 R 6.8 6.8 R
TV 0.97 1.0 * 0.99 0.16 0.14 #0.15
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EHE=FV 7 RE MR

(RU AR

(BT :mg/L)

- 203 -

7 T4 NN NN
i XHT A= —R 203 203

Hit X 4 K AEAT K EHT
HX 5 0450 0470
W& 000400 000100
FEF R (m) 5.0 80.0
&R EHPF RHF
FHIEIX 5y ATERAK ATERAK
BKEH A H24.7.09 | H24.12.13 H24.7.05 | H24.12.03
KIE(C) 15.3 16.0 17.5 17.0
EXUSEZHE (mS/m) 11.8 8.1 850.0 551.0
pH 5.8 6.0 I 6.7 6.8 I
RNVES <0.1 < 0.1 < 0.1 4.1 2.5 * 3.3
7 T4 NN

i XHT A= —R 203

Hi XA T

X% 5 0620

W& 000200

FEF R (m) 1B

&R RHF

&K 5y Z DA

BKEH A H24.12.03 -

KIE(C) 16.9

EXUSEZHE (mS/m) 121.0

pH 1.5 EREEE

RNVES 0.7 #0.7



